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1. CocTaB rocyiapcTBeHHOM UTOrOBOI ATTECTAIMU

['ocynapcTBeHHas UTOroBasi aTTeCTalMs 10 HanpaaeHuto nmoaAroToBku 41.03.05
Mex1yHapoiHbI€ OTHOIICHUSI B COOTBETCTBUHU C PEUICHUEM YUEHOT0 COBETAa YHUBEPCUTETA
BKJIIOYAET B ceOsl:

- caAavy rocyaapCTBCHHOI'O 3K3aMCHaA
2. HporpaMMa rocyaiapCTB€HHOI0 HTOrOBOI'0 YK3aMEHa

Komuccnn o npuemMy rocygapCTBEHHBIX IK3aMEHOB OPraHU3YIOTCS MO
npeiceaTeIbCTBOM PYKOBOIUTEINS (3aMECTUTEINSI PYKOBOAUTEIS) OpraHu3aiuu. YieHbl
IPUEMHON KOMUCCUU HAa3HAYAKOTCS €€ MpeACceaaTeIeM U3 YnCiia
BBICOKOKBTH(DUITMPOBAHHBIX HAYIHO-TIEIATOTHICCKUX U HAYYHBIX PAOOTHUKOB.
3aMecTHUTelNb MpeAcenaTesNs IPUEeMHON KOMUCCHH BBIOIHAET GYHKIIUU TIPEIceaTes
AK3aMEHAIMOHHON KOMHCCHUH B CIIy4ae €r0 OTCYTCTBUS.

B orcyrcTBHE peacenaTens 3K3aMEHAIIMOHHOW KOMUCCHH WJIH 3aMECTHUTEIS IPEICEIATEII
AK3aMEHAllMOHHOW KOMUCCUH MPUHUMATh 3K3aMEHbI IK3aMEHAI[MOHHAS] KOMUCCHUS HE
Brpase. KoMmuccust mpaBoMOYHa IPUHUMATh 3K3aMEHBI, €CJIU B €€ 3aCEJaHUU YYaCTBYIOT HE
MEHEE JIBYX CIEIHUAIMCTOB MO NMPOPUITIO TPUHUMAEMOTO K3aMEeHa, B TOM YU CJIE OJIUH
TOKTOp HayK. [Ipu 3TOM B 3acenaHum sK3aMEHAITMOHHOM KOMUCCHH MO NPUEMY dK3aMEHa
JIOJKHBI y4acTBOBaTh He MeHee 2/3 ee coctaBa. [Ipu mpueme 3x3amMeHa MOryT
IIPUCYTCTBOBATH WICHBI COOTBETCTBYIOLIETO IUCCEPTALIMOHHOTO COBETA OPraHU3alH, T
MIPUHUMAETCS HK3aMEH, PYKOBOIUTEIND (3aMECTUTENb PYKOBOJAUTES) OpraHU3alluu,
PYKOBOJMTEIb MOAPA3ICIEHUS OpraHu3aliy, NpeAcTaBuTeN MuHICTEpCTBA 00pa30BaHus U
Hayku Poccuiickoii @enepannu iy HHOTO GpeAepaibHOTO OpraHa UCTIOJHUTEILHOM BJIACTH,
B BEJICHUU KOTOPOTO HAXOJAMUTCS JaHHAs OpraHU3aLIUs.

DK3aMeHbl IPOBOJATCS MO YCMOTPEHHIO IK3aMEHAITMOHHOW KOMHUCCHH 110 OuieTaM uin 0e3
owmiietoB B (hopme codeceoBaHus Wi B HHOU (popme.

JI71s1 TOATOTOBKM OTBETA DK3aMEHYIOIIMECS UCTIOIB3YIOT YK3aMEHAILIMOHHBIE JINCTHI, KOTOPBIE
COXPaHSIOTCS B OPTaHHU3aIlMU TIOCIIe TIpUeMa K3aMeHa B TedeHue roaa. Eciau ¢popma
MIPOBEICHMS K3aMEHA HE MPEAYyCMATPUBAET MMUCbMEHHOW MOATOTOBKHU, TO
AK3aMEHAIlMOHHBIE JIMCThI HE UCTIOJIb3YOTCS.

Ha kaxa0ro sK3aMeHyIOIIETOCA 3aII0IHAETCS MPOTOKOJI pHEMa IK3aMEHa, B KOTOPBIN
BHOCSTCS BOIIPOCHI OMJIETOB.

3. IlepeyeHs BONPOCOB ISl MOATOTOBKH K IOCYAaPCTBEHHOMY MTOTOBOMY 3K3aMEHY

Variant 1

1) To ensure that fresh fruit arrives in good condition, it is important that the IS not
too long

a) travel c) loading

b) transit time d) driving

2) Can you these documents and see if there's anything in them about the contract?
a) look through c) look after
b) observe d) follow



3) Unless production is kept on , we will fall behind with our orders.
a) timetable c) agenda
b) schedule d) programme

4) At meetings we to give a speech.
a) are required c) require
b) have required d) are requiring

5) A stockbroker is someone who and shares.

a) borrows, shares c) is buying, selling

b) buys, sells d) will buy, sell

6) With an trade volume of nearly 2 trillion US dollars in 2006, China handles more
cargo than any other country in the world.

a) estimated c) estimates

b) estimating d) to be estimating

7) Managers should be sensible to when teasing starts hurtful.
a) to become c) is becoming
b) becomes d) to be becoming

8) The recent globalization of trade to shift in logistics.

a) has been leading c) leads
b) is leading d) has led

9) Toyota are planning to launch a new of their Lexus range in June
a) make c¢) model
b) brand d) trademark

10) The bus from London to Birmingham every day.
a) has gone c) have gone
b) will go d) goes

11) People are used to for a good quality product.
a) paying premium c) arguing
b) stealing d) bargain

12) Fresh fruit and vegetables have a relatively short once they go on sale.
a) shelf life c) lifecycle
b) lifetime d) selling time

13) We need to make an estimate of our , for example how much it is needed to be
paid for the rent.



a) costs ¢) turnover

b) profits d) revenues

14) Business people who attend the meeting refer their business associates to
someone they meet on the meeting.

a) can ¢) must

¢) should d) may

15) If your sales are lower than the actual demand for a product, there is a risk of
product shortages.

a) results c) performance

b) forecasts d) requirements

16) The spaceflight company led by the billionaire Elon Musk launched a trip to
orbit with the first-ever all-civilian crew

a) historic c) fun

b) charming d) space

17) If the company loose structure it may to disaster.
a) will have, lead c) will have, will lead
b) has, will lead d) has, lead

18) As the two platforms are so , many content creators have reshared videos
created on TikTok to VK Video.

a) the same c) similar

b) same d) boring

19) Managers to step in and have a quiet word.
a) are preparing c) should prepare
b) will prepare d) should be prepared

20) He’s a skilled negotiator who is known to drive a hard
a) bargain c) agreement
b) deal d) contract

21) By subtracting costs from turnover, you should be able to make a forecast.
a) weather c) sales
b) news d) profit

22) The Silhouette Challenge dominated TikTok’s February content in 2021.
a) much c) many
b) a lot of d) much of

23) Because of the increased cost of transport, companies are now having to think carefully
about the of production plants.

a) development ¢) management

b) organisation d) siting



24) Companies build new manufacturing plants because they need more
a) capacity c) products
b) profit d) deliveries

25) | am a number of designs for your consideration.
a) fixing c) joining
b) enclosing d) attracting

26) Over the last five years, our company to deal with staff turnover.
a) to have c) has had
b) have d) is going

27) Everyone was impressed by the courage of doctors all around the world.
a) entirely c) highly
b) Many d) badly

28) The boss fired not only Tom, the best employee, he also sacked the entire
department.
a) butc) or
b) and d) if

29) Some scientists and political theorists see a global hierarchy of institutions replacing the
existing system of sovereign nationstates the primary political community.

a) like c) over

b) as d) by

30) Organization of Petroleum Exporting Countries -
a) APEC c) OPEC
b) ACEAN d) BRICS

31) ComCam Ltd. are looking for local suppliers in order to reduce their on imported
components.

a) necessity ¢) need

b) requirement d) reliance

32) Tom to continue with expansion this year.
a) wants c¢) will want
b) is wanting d) wanted

33) Countries resolve their disputes and conflicts peacefully through consultations
and not resort to the use or threat of force.
a) have to c) must



b) should d) cannot

34) Each year, our organization holds a competition to find and reward employees
who out innovative programs to demonstrate sustainable energy in action.
a) has carried c¢) was carrying

c) have carried d) were carrying

35) Cutting costs in the production process can be achieved by using a strategy.
a) total-quality c) rapid-logistics
b) environmentally friendly d) lean-manufacturing

36) In fact, our company is a small organization with only a few
a) employs c) employees
b) employerers d) employers

37) One of the best decisions we’ve ever made was to part of our profits in a new
fleet of vans.

a) invest c) lay out

b) spend d) buy up

38) 1'd like to what we were discussing at the last meeting.
a) run along c) run through
b) run into d) run across

39) During the recession, marketers have learned that interactive marketing is :
a) groundbreaking c) a way to be
b) the way to go d) out of the blue

40) Low-cost labour encouraged many multinationals to their manufacturing
operations to south-east Asia.

a) subcontract c) backshore

b) offshore d) outsource

41) We have to the advertisement to this particular need.

a) tailor c) tell

b) tide d) trick

42) He represents our company in all decisions and does it well. He is thought to be the
best we could imagine.

a) PA c) PRO

b) HRM d) CEO

43) Labour costs in Vietnam are amongst the lowest in the world, but many garment workers
are not paid a(n) wage, that would be sufficient for their survival.



a) live c) average
b) living d) regular

44) In the future, deliveries from different supplies will be so that trucks carry full
loads.

a) shorter c) consolidated

b) quicker d) reorganised

45) The bus the town on Fridays only.
a) is leaving c) is going to leave
b) leave d) leaves

46) This is where the line between advertising and marketing begins to :
a) fade c) transform
b) shift d) blur

47) If you’re sending the goods by sea, it is essential to against any accidents which
might happen during the journey.

a) guarantee c) insure

b) cover d) assure

48) A successful specialist knows how to with customers.
a) entangle c) engage
b) buy d) grade

49) Two-months timetable and Tom is invited to use his knowledge to spot a
mistake.

a) is shown c) are shown

b) shows d) are showing

50) I can't to my computer.
a) log in c) log for
b) log out d) log on

Variant 2

1. She anything about his past yet.
A have never heard

B never heard

C has never heard

D was never heard

2. Shakespeare a lot of plays and poems
A writes
B wrote




C has written
D has been written

3. Joan four windows since she was born
A broke

B has broken

C have breaking

D has been broken

4.1 so much fun since | was a kid.

A haven’t had

B hadn’t had

C didn’t have

D wasn’t had

5. the doors before you leave the house?
A Have you ever locked

B Do you ever locked

C Do you ever lock

D Did you ever locked

6. Andy and Mary to a concert tomorrow night
A are going

B go

C goes

D gone

7. Unless he more he won’t get much money
A sells

B sell

C will sell

D selling

8.1 to ski when | was at the university

A uses

B use

C am using

D used

9. The plane off in a few minutes.

A will take

B took

C has taken

D taken

10. 'Did you phone Ruth?' - 'Oh no, | forgot. | her now.
A'l phone

B I’m phoning



C | am going to phone

D I’ll phone

11. The food looks horrible. It.

A Idon’t eat

B 1 am not eating

C I’'m not going to eat

D I don’t eating

12. | can't meet you tomorrow afternoon. | tennis.

Al play

B I'll play

C I am playing

D was playing

13." you outside the hotel in half an hour, OK?' - 'Yes, that's fine.'
A | meet

B I’ll meet

C I’m meeting

D | met

14. some letters this evening.

Al write

B I’ll write

C I’m going to write

D I’m written

15. 'l need some money.' - 'OK, you some. How much do you need?'
Allend

B I’ll lend

C I’m going to lend

D I'd lent

16. Some scientists and political theorists see a global hierarchy of institutions replacing the
existing system of sovereign nationstates the primary political community.
A like

B as

C by

D at

17. Other organisations are only to members from a particular region or continent
of the world.

A opening

B opened

18. International organisations must also from treaties.
A Dbe classified

B be founded

C be made

D be distinguished



19. Legally speaking, an international organisation may be established
document.

A of

B from

C by

Din

20. | thought that he in New York.
A lives

B lived

C leave

D leaves

21. | supposed that he us a letter.
A sends

B would sent

C would send

D should sent

22. He said to me that he had written a letter
A last year

B a year ago

C before a year

D the year before

23. He told me

A to keep quiet and not to make noise

B not keep quiet and make noise

C to not keeping quiet and not to make noise
D keep quiet and make not noise

24. They said to us that they were studying Maths
A this month

B here

C that year

D last week

25. Organization of Petroleum Exporting Countries -
A APEC

B OPEC

C ASEAN

D BRICS

a constituent

26. China devotes actively to pushing forward the cause of international arms

control, disarmament and nonproliferation.
A himself

B themselves

C itself

D herself

27. ’'m sorry



A interrupt you

B to have interrupted you

C to have interrupting you

D for your interruption

28. the Commonwealth of Nations —

A United Nations

B European Union

C the Commonwealth of Independent States

D the United Kingdom

29. Countries resolve their disputes and conflicts peacefully through consultations
and not resort to the use or threat of force.

A have to

B should

C cannot

D shall

30. It was cold when we the house that day
A left

B leaved

C were leaving

D was leaving

31. 1t peaceful and the birds

A was — were singing

B were — was singing

C was — have sung

D were — were sung

32. She a beautiful dream when the alarm clock
A had - rang

B was having — rang

C was having — was ringing

D was had — rang

33. From Italy the practice to the other European powers.
A was spreat

B spreaded

C sprode

D was spread

34. The flags of Britain and the USA have red, white and blue designs.
A either

B neither

C both

D two

35. | stopped watching the game before the end, but | thoughtwe
A have won

B had won

C have been winning




D be winning

36. That’s very sad news. If
A | know

B | knew

C I'd known

D I’d knew

37. My sister to me once or twice since she’s been living in Moscow.
A has written

B was writing

C had written

D were written

38. According to the memo, we’re the meeting at noon tomorrow.
A will have

B had

C have

D having

39. You’re 18! You’re to be able to look after yourself by now.
A supposed

B should

C suggested

D struggle

40. A permit is a document which states that you _ to do something.
A can

B might

C are allowed

D used

41. He have helped us if he’d really wanted to.

A could

B may

C should

D must

42. My computer be old, but it still works really well.

A can

B could

C may

D might

43. someone please tell me where the library is?

A can

B may

C should

D shall

44. She liked to say that she was just one of his happy customers.
A all

B lots of

sooner, I would have tried to help.



C many

D much

45. Cars were parked on side of the street.
A all

B both

C each

D two

46. They said on the news that of Scotland was covered in snow.

A each
B half
C whole
D full

47. The new job provided money for expensive toys, but not very

with them.

A little

B few

C much

D many

48. When Mary said to the dog, “Stop wagging your tail”,

faster.

A your

B hers

C his

D its

49. ’'m a swimmer as my sister.
A not as good

B not better

C good as not

D better not

50. Is St Paul’s the oldest Cathedral Britain?
A from

B in

C of

D over

Variant 3. Choose the correct version

time to play

tail started wagging

1) In order to support newly-emerged industry, the government
a) invest c) had invested
b) is investing d) is allowed to invest

2) What's on the today?
a) agenda c) board
b) notebook d) desk

into it



3) Because of the roadworks, it me much longer to get to work.
a) gets c) has got
b) is getting d) has been getting

4) If newly launched products become very popular, they can be in if the logistics
operation is not well planned.

a) great demand c) last position

b) short supply d) great difficulty

5) The problem of emergency shelter when Will Crawford and Peter
Brewin developing of Concrete Canvas

a) solve, is going to be finished c) will solve, be finished

b) is solved, finish d) will be solved, finish

6) | don't think their ads are visually
a) approving c) abused
b) appealing d) addressing

7) Comcam’s profits in the last year were disappointing, their sales underwent a
record expansion.

a) despite c) however

b) although d) nevertheless

8) By now, many of manufacturers that single-sourcing doesn’t help, in case of
emergency.

a) have learned c) are learning

b) are learned d) will learn

9) To avoid shortages at peak selling times, some companies use a strategy rather
than relying on just one supplier.

a) just-in-time c) consolidated-delivery

b) bulk-shipment d) multiple-sourcing

10) I'm happy to inform you that we've reached another with the successful
completion of user testing.

a) marker c) mile

b) point d) milestone

11) I need your on this. What do you think of this design?
a) intake c) input
b) install d) inspiration

12) Our course diverse topics.
a) learns c) covers
b) works d) deals



13) We won’t consider stocking their products them giving us a hefty discount.
a) providing c¢) without
b) unless d) except

14) Everyone has to leave the office during a fire . It is so annoying.
a) alarm c) time
b) drill d) case

15) As it was agreed at the meeting, Tom visit refugee camp.
a) is to ¢) ought to
b) should d) must

16) ’'m afraid Tom is out at the moment. He lunch with a client.

a) had c) to have

b) is d) is having

17) We want you and your colleagues ownership with management to solve the
problem.

a) to take c) having take

b) taking d) to be taking

18) Tom to attend a morning meeting.

a) invited c) invites

b) is inviting d) is invited

19) Advertising should be sustained over time to creditable results.
a) collect c) yield
b) harvest d) earn

20) | am responsible for my work because there is nobody me.
a) standing over c) taking after
b) pushing d) praising

21) | want my coffee served with cream.
a) is ¢) being
b) be d) to be

22) Zara’s production system enables it to quickly to changes in customer demand.
a) respond c) answer
b) perform d) produce

23) If an advertising campaign , that means it achieved the opposite effect of what it
wanted to achieve.

a) backs away c) backs

b) backs down d) backfires



24) Employees in multinational companies have excellent if they like to travel.
a) career move c) career plan
b) career break d) career opportunities

25) Our organisation has showed a bad performance last year and will not be any new
workers.

a) taking to c) taking up

b) taking off d) taking on

26) The percentage of sales a company has in a particular market is called

a) turnover c) market share

b) net profit d) subsidiary

27) Everybody is exited because, for the first time, this product will be on next fair.
a) supported c) shared

b) showcased d) stocked

28) We can’t hold the meeting externally Finance department agrees that the
company will fund it.

a) unless c) despite

b) without d) except

29) Inside this tent there is a fabric that in cement.
a) was soaks c) has been soaked
b) is soaking d) soaks

30) Critical components for vehicles are manufactured by suppliers according to the
manufacturer’s design

a) plan c) specification

b) conditions d) instructions

31) To save the company fast actions
a) taken c) take
b) must be taken d) are taking

32) To ensure its internal production operations are cost effective, Zara outsources
all activities, such as finishing of garments, to small, local contractors.

a) low cost ¢) labour-intensive

b) cost-effective d) low-priority

33) The new director has transformed the company by several brands.
a) detaching c) demerging
b) loosening d) shedding

34) Usually our Sales Director with important customers, but | with all



enquiries while she is on holiday.

a) deals, am dealing c) deals, dealt

b) dealt, is dealing d) is dealing, dealt

35) For this product, we need to anticipate questions buyers might have
and them in the advertisement.

a) address c) tell

b) say d) appoint

36) Cyclepods sell environmentally-friendly products out of 100% aluminum.
a) make c) made
b) be making d) making

37) RFID technology will enable retailers to know their exact as soon as a product
Is removed from the shelf.

a) stock levels c¢) customer demand

b) cashflow d) profitability

38) I'd like to what we were discussing at the last meeting.
a) run along c) run through
b) run into d) run across

39) During the recession, marketers have learned that interactive marketing is :
a) groundbreaking c¢) a way to be
b) the way to go d) out of the blue

40) Low-cost labour encouraged many multinationals to their manufacturing
operations to south-east Asia.

a) subcontract c) backshore

b) offshore d) outsource

41) Jaguar Land Rover has a 10-year goal to eliminate 90 million as part of its plan
to reduce the impact of its supply chain on the environment.

a) vehicles c) road miles

b) containers d) quality checks

42) The shop will your goods within 24 hours of your order.
a) discount c) exchange
b) dispatch d) refund

43) | from Poland, but at the moment | in Germany.
a) came, am living c) come, leave

b) is coming, am living d) came, leave

44) They launched a new product in a to capture a larger share of the market.




a) proposal ¢) submission
b) bid d) tender

45) Years ago, logo was a straightforward guarantee of quality and
a) demand c) luxury
b) price d) consistency

46) Despite rising costs and wage inflation, China still remains the top location for
manufacturing :

a) investment c) expenses

b) capacity d) innovation

47) We paid 4% interest____the loan
a) to c) at
b) for d) on

48) The Cyclepods enable cyclist the front wheel of their cycle, frame and back
wheel to the unit.

a) to block c) block

b) blocking d) blocks

49) The price of that foreign-made cheese was . It was cheaper to produce it in our
country.

a) prohibitive c) reasonable

b) fascinating d) accessible

50) The invitation states that all parts of the company badly.

a) are performed c) performs
b) will have performed d) have performed

Variant 4. Choose the correct version

1) You can develop your skills our class.
a) attending c) going
b) assisting d) training

2) Due mainly to high labour costs in the US, there has been a in production of
clothing to low-cost developing countries.

a) change ¢) movement

b) shift d) modification

3) reduced the risk of being dependent on single supplier, but managing a lot of
suppliers needs additional time and resources.



a) Single-sourcing ¢) Multiple-sourcing
b) Dual-sourcing d) Exclusive

4) Desks need to be at least 1 metre wide to a monitor.

a) lodge c) house
b) accommodate d) contain

5) I'm a little confused about the timeline. Could you

a) walk me through it ¢) wall me
b) consider me d) wipe it

6) You can't use computer. It's :
a) fixed c) out of order
b) in working order d) moved

7) Without adequate measure, the situation will continue
a) to worse ¢) worsed
b) worsening d) being worse

8) Do you have any on you?
a) cards of business c) roadmap
b) agenda d) business cards

9) HP is one of Dell's main
a) computers c) controllers
b) competitors d) contributors

again?

10) If you are going to borrow money from a bank, check the

back so much?
a) interest rate c) premises
b) assets d) turnover

- can you affort to pay

11) The plan that the board was received favourably by most staff.

a) put forward c) pushed up
b) went in front d) forged ahead

12) 20% of my___goes to taxes.
a) cash c) profit
b) income d) balance

13) Having more than one supplier for critical components can reduce the risk to a

company’s business if a supplier goes
a) failed c) in debt
b) insolvent d) bankrupt



14) We our mortgage last year, so we have no debts.
a) took c) paid off
b) stopped d) borrowed

15) In difficult economic times, there is higher chance of companies
a) failing ¢) withdrawing
b) going wrong d) breaking down

16) We all the calculations twice
a) worked c) checked
b) ordered d) removed

17) My IS very important to me.
a) deadline c) workload
b) labour d) career

18) In order to get a full , customer must send back goods in the original
packaging.

a) discount c) refund

b) return d) amount

19) We have to this report.
a) go across c) get over
b) look through d) get through

20) | couldn’t afford new iPhone, so | got a from the bank.
a) cash c) interest
b) loan d) savings

21) P&G made a after implementation of just-in-time delivery system.
a) fort c) sale
b) discount d) fortune

22) My change all the time.
a) duty c) doody
b) response d) duties

23) Most meetings are held in the
a) restroom c) boardroom
b) lunch room d) stairwell

24) Product have a significant cost impact for companies — some of the most obvious
being money, time, resources and lost reputation.



a) innovations c) inaccuracies

b) shortages d) defects

25) If our marketing plan , the product will be very successful.

a) work c) check

b) in working order d) works

26) Maintaining standards has become an increasing challenge for large clothing
retailers because of the size and complexity of supply chains.

a) moral c) realistic

b) honest d) ethical

27) A is another name for a “producer”
a) manufacturer c) distributor
b) investor d) supplier

28) The late arrival of critical components can result in delays throughout the
production process.

a) extra c) indirect

b) knock-on d) secondary

29) Another way of saying "he was fired" is "he was
a) shown the door c) cleaning the door
b) kicked out the door d) gazing the door

30) All services provided at no , S0 you don't have to pay.
a) money c) cost
b) payment d) price

31) Your work will start as soon as you our company.
a) join ¢) contract
b) recruit d) employ

32) Our Is to provide high quality service.
a) mission c) position
b) statement d) post

33) Although we our own sales representative at the moment, we
generally agents in China.

a) use, are using c) used, are using

b) are using, use d) use, use

34) Person responsible for computer systems and informational technologies is
a) CEO ¢) CIO
b) PA d) director R&D



35) We offer a to customers who buy in bulk.
a) refund c) delivery
b) discount d) catering

36) People buy this product so fast. For now it is :
a) out of stock c) profitless
b) in huge demand d) rare

37) Jim wanted to the product's shortcomings.
a) assume c) appoint
b) revoke d) address

38) Energy costs an increasing percentage of total production costs for manufacturers
across many sectors.

a) account for c) produce

b) make d) justify

39) My father has to explain the task.
a) pulled the wool over my eyes c) turned the light red
b) gone out of his way d) got over it

40) It is important for their reputation that manufacturers and their suppliers have good
environmental

a) publicity c) ideas

b) conditions d) credentials

41) In our company you can make a with flexible bonus scheme.
a) career move c) fortune
b) mistake d) career plan

42) We will send you a draft design with an exact quotation.
a) although c) together
b) joined d) connected

43) Tom says he never a business plan before.
a) has written c¢) will write
b) is writing d) has been written

44) Between car and bike | a car.
a) took after c) opted for
b) looked for d) decided

45) 1 worked till 11 o clock at night to meet the



a) workload c) flexitime
b) work-life balance d) deadline

46) Usually our Sales Director with important customers, but | with all
enquiries while she is on holiday.

a) deals, am dealing c) deals, dealt

b) dealt, is dealing d) is dealing, dealt

47) 1 work as PA and it gives me opportunity to contact interesting people.
a) in study c) in lavatory
b) in-house d) at home

48) This store is famous abroad but have yet to in our country.
a) be soared c) take off

b) grow d) pull the leg

49) Mark is in charge of hiring new employees, he is our :

a) CEO ¢) CIO

b) HRM d) PRO

50) The invitation states that all parts of the company badly.
a) are performed c) performs

b) will have performed d) have performed

Variant 5. Choose the correct version

1) To ensure that fresh fruit arrives in good condition, it is important that the IS not
too long

a) travel c¢) loading

b) transit time d) driving

2) Can you these documents and see if there's anything in them about the contract?
a) look through c) look after
b) observe d) follow

3) Unless production is kept on , we will fall behind with our orders.
a) timetable c) agenda
b) schedule d) programme

4) At meetings we to give a speech.
a) are required c) require
b) have required d) are requiring

5) A stockbroker is someone who and shares.
a) borrows, shares c) is buying, selling
b) buys, sells d) will buy, sell




6) With an trade volume of nearly 2 trillion US dollars in 2006, China handles more
cargo than any other country in the world.

a) estimated c) estimates

b) estimating d) to be estimating

7) Managers should be sensible to when teasing starts hurtful.
a) to become c) is becoming
b) becomes d) to be becoming

8) The recent globalization of trade to shift in logistics.

a) has been leading c) leads

b) is leading d) has led

9) Toyota are planning to launch a new of their Lexus range in June
a) make c¢) model

b) brand d) trademark

10) The bus from London to Birmingham every day.
a) has gone c) have gone
b) will go d) goes

11) People are used to for a good quality product.
a) paying premium c) arguing
b) stealing d) bargain

12) Fresh fruit and vegetables have a relatively short once they go on sale.
a) shelf life c) lifecycle
b) lifetime d) selling time

13) We need to make an estimate of our , for example how much it is needed to be
paid for the rent.

a) costs c) turnover

b) profits d) revenues

14) Business people who attend the meeting refer their business associates to
someone they meet on the meeting.

a) must c) can

b) should d) may

15) If your sales are lower than the actual demand for a product, there is a risk of
product shortages.

a) results c) performance

b) forecasts d) requirements



16) ’'m afraid Tom is out at the moment. He lunch with a client.
a) had c) to have
b) is d) is having

17) We want you and your colleagues ownership with management to solve the
problem.

a) to take c) having take

b) taking d) to be taking

18) Tom to attend a morning meeting.
a) invited c) invites
b) is inviting d) is invited

19) Advertising should be sustained over time to creditable results.
a) collect c) yield
b) harvest d) earn

20) | am responsible for my work because there is nobody me.
a) standing over c) taking after
b) pushing d) praising

21) | want my coffee served with cream.
a) is ¢) being
b) be d) to be

22) Zara’s production system enables it to quickly to changes in customer demand.
a) respond c) answer
b) perform d) produce

23) If an advertising campaign , that means it achieved the opposite effect of what it
wanted to achieve.

a) backs away c) backs

b) backs down d) backfires

24) Tom to retire.
a) expects c) to expect
b) is expected d) to be expected

25) Our organisation has showed a bad performance last year and will not be any new
workers.

a) taking to c) taking up

b) taking off d) taking on

26) The percentage of sales a company has in a particular market is called :



a) turnover c) market share
b) net profit d) subsidiary

27) Everybody is exited because, for the first time, this product will be on next fair.
a) supported c) shared
b) showcased d) stocked

28) We can’t hold the meeting externally Finance department agrees that the
company will fund it.

a) unless c) despite

b) without d) except

29) Inside this tent there is a fabric that in cement.
a) was soaks c) has been soaked
b) is soaking d) soaks

30) Critical components for vehicles are manufactured by suppliers according to the
manufacturer’s design

a) plan c) specification

b) conditions d) instructions

31) To save the company fast actions
a) taken c) take
b) must be taken d) are taking

32) To ensure its internal production operations are cost effective, Zara outsources
all activities, such as finishing of garments, to small, local contractors.

a) low cost c¢) labour-intensive

b) cost-effective d) low-priority

33) The new director has transformed the company by several brands.
a) detaching c¢) demerging
b) loosening d) shedding

34) Companies are also seeking to eliminate the use of and dangerous chemicals
during the production process.

a) toxic c) expensive

b) unsustainable d) environmental

35) For this product, we need to anticipate questions buyers might have
and them in the advertisement.

a) address c) tell

b) say d) appoint




36) Cyclepods sell environmentally-friendly products out of 100% aluminum.
a) make c) made
b) be making d) making

37) RFID technology will enable retailers to know their exact as soon as a product
Is removed from the shelf.

a) stock levels c¢) customer demand

b) cashflow d) profitability

38) Considering big demand and ability to produce, his company :
a) went out of business c) calculated profits
b) soared d) went abroad

39) In many offices, employees work in little areas called
a) cabinet c) cubes
b) squares d) boxes

40) It is important for their reputation that manufacturers and their suppliers have good
environmental

a) publicity c) ideas

b) conditions d) credentials

41) In our company you can make a with flexible bonus scheme.
a) career move c) fortunecd
b) mistake d) career plan

42) The shop will your goods within 24 hours of your order.
a) discount c) exchange
b) dispatch d) refund

43) | from Poland, but at the moment | in Germany.
a) came, am living ¢) come, leave
b) is coming, am living d) came, leave

44) They launched a new product in a to capture a larger share of the market.
a) proposal ¢) submission
b) bid d) tender

45) Years ago, logo was a straightforward guarantee of quality and
a) demand c) luxury
b) price d) consistency

46) Despite rising costs and wage inflation, China still remains the top location for



manufacturing :
a) investment c) expenses
b) capacity d) innovation

47) We paid 4% interest____the loan
a) toc) at
b) for d) on

48) The Cyclepods enable cyclist the front wheel of their cycle, frame and back
wheel to the unit.

a) to block c) block

b) blocking d) blocks

49) The price of that foreign-made cheese was . It was cheaper to produce it in our
country.

a) prohibitive c) reasonable

b) fascinating d) accessible

50) The invitation states that all parts of the company badly.
a) are performed c) performs
b) will have performed d) have performed

4. IIpumepHbIii IepeYeHb TeM BbINIYCKHbIX KBAJTH(PUKALMOHHBIX padoT

1. CoBpeMeHHas TpaHCIIOPTHASI HHPPACTPYKTYpPa FNEMEHT NOJUTUUECKON UHTErpanuu (Ha
MpUMepeE...)

2. ®opMHUpPOBAHHUE COBPEMEHHOM TPAHCIIOPTHON MHMPACTPYKTYPHI KaK IPUOPUTET
HaIIMOHAJIbHOW SKOHOMHUYECKOM cTpaTeruu (Ha mpumepe...)

3. «IIpoctpancTBo 1520» Kak pakTop UHTErpAIIMH SKOHOMUYECKOTO MTpocTpancTa EBpasun.
4. CoBerT 10 Kene3HOA0pOKHOMY TpaHcniopTy ctpad CHI': nenu u 3agaum.

5. TpancnoptHas undpacTpykrypa « HoBoro menkoBoro myTu» — TpaH3UTHbBIC
npenmyniecTsa Poccun.

6. TpancriopTHbIe TPOOIEMBbI APKTHYECKOTO MaKpOpEernoHa: MEeKIyHapOIHbIA aCIEKT.

7. TpancniopTHbie mpobsieMbl [[eHTpanbHOa3MaTCKOTO MAaKPOPETHOHA: MEXKTyHAPOTHBIH
aCIIeKT .

8. TpancnopTHbIe TpobaeMbl Kacnuiickoro MakpopernoHa: MeXIyHapO HBINA aCIeKT.

9. TpancnopTHble MpoosieMbl banTUICKOTO MaKpOPEruoHa: MEKTyHAPOIHBINA aCIIEKT.

10. TpancmopTHbIe TTPOOIEMBI A30BO-UEpHOMOPCKOTO MAaKpOPETHOHA: MEKTYHAPOTHBIHI
aCITeKT

11. MexnyHapoaHble TPAHCIIOPTHBIE KOPUAOPHI B COBPEMEHHBIX MEKTYHAPOHBIX
OTHOIIICHUSX (Ha MpUMeEDE ...)

12. Ponp v 3Ha4eHUE TPAHCIIOPTHBIX KOMIIAHUI B peanu3alnu TpaHCIIOPTHOM CTPaTEruu
Poccun.



13. ApKTUYECKUI PETHOH B CUCTEME MEKIYHAPOAHBIX TPAHCIIOPTHBIX KOMMYHUKALAN

14. TpancnopTHbIe TPOOJIEMBI HEIPU3HAHHBIX TOCYIAPCTB HA IPUMEDE ...

15. TpancnoptHbiii komIuieke [JanbHero BocTtoka B MexXAyHapOAHBIX OTHOILIEHUAX Poccuun
co ctpanamu FOBA.

16. Pa3zBuTne TpancnoptHoro corpyaandectsa B pamkax bPUKC.

17. PazBuTHe TpaHCIOPTHOTO U 3 coTpyaHudecTBa B pamkax [HIOC.

18. Pons Poccun B nuBepcudukanmu myTeu nocraBku sHepropecypcoB B KHP.

19. IlepcieKTHBBI pa3BUTHS ra30TPAHCIIOPTHBIX CETEH B MEKAYHAPOAHBIX OTHOLICHUSX
Poccun, Kazaxcrana u Kuraii.

20. Mopckue yTH T1O0CTaBKH 3HEPTOPECYPCOB: T€OMOJIUTUYECKAN ACTIEKT.

21. Yuactue Poccuu B TpancnopTHBIX npoekTax B ctpaHax ATP: npoGiembl 1 mepCreKTUBEI.
22. Tpeyroabauk Poccus-Monronus-KuTaii — nepcrneKTUBbI TPAHCIIOPTHOM UHTETPAIUH.
23. AbTepHATUBHAS YHEPTETUKA B TPAHCIIOPTHOM OTPACIINA — CPABHUTEIBHBIN aHAIU3
MEKIyHapOIHOIO OIIBITA.



